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EF2ED STLEQ SFEQD SALEQ SHEQD SLEQ
(8/8) (&/8) st (8/8H) (&/8) st (8/8) (&/8) st
X \ . 8R17H(H) 8H19H(HA) ﬁ_ﬁﬁ&f 8A17H(A) 8H19H(A) ﬁ_ﬁfﬁfﬁ 8A17H(A) 8H19H(HA) ﬁ_ﬁif&
No N #HERF R4 BRHR A & AT 4 =)o RIHL RB
7 @@ OY4e) @@
(28) (£3H) (&3] USED) (/NEIE) (/NAVER] (KREH) (KB=H) [KAE]
1 )8 E1E4 T 3~ K A 91.000 113,300 80% 58.700 76,400 77% 32.300 36,900 88%
2 BRNNR/UEE | fomhpig A~ b B 53.000 62,700 85% 43.200 51,500 84% 9.800 11,200 88%
3 REHA  |HR)IE E1E4, ERTE ~ 2 40T 106.200 137,700 77% 72.400 89,500 81% 33,800 48200 70%
4 B E20rh $3E EfFh~/\EF 69.000 74,300 93% 61.800 65,100 95% 7.200 9,200 78%
5 #2112 CAERE Bk [E A ~ A 75.500 81,200 93% 48,900 55,300 88% 26,600 25,900 103%
hEHA £5t 78,900 93,800 84% 57.000 67,600 84% 21,900 26,300 83%
6 BER E17EEE B ~ =EPART—KGC 85.100 95,400 89% 65.000 72,000 90% 20.100 23,400 86%
7 BEE E17RSE sl ~ LI 78.600 93,700 84% 61500 73,900 83% 17.100 19,800 86%
8 BER Easadtis SER] ~ A 91.900 102,600 90% 67.300 75,500 89% 24,600 27,100 91%
9 BER EaBdbiE IZE ~ P4 68.100 85,200 80% 48,600 62,700 78% 19,500 22,500 87%
10 TR 6 A%5E AEE ~ SFICT 50.400 58,500 86% 34,500 40,500 85% 15,900 18,000 88%
11 B3] E6azs FRE/NEERT—HGC ~ 27 54,100 64,800 83% 37,100 44100 849% 17,000 20,700 82%
12 FEE E14EEE EA ~ e 110,500 105,600 105% 97.100 92,600 105% 13.400 13,000 103%
13 FEE E51ERRaEE BIEIME ~ BETEE 80.300 99,800 80% 58,800 73,200 80% 21,500 26,600 81%
14 FER E51EEaEE =B ~ FEJCT 36.200 53,100 68% 26.200 39,800 66% 10.000 13,300 75%
15 . FER E51 I EE KE ~ EESE 14.800 17,600 84% 11.200 13,200 85% 3.600 4,400 82%
16 FER E1488 1L B B E HIE ~ s s 38.000 37,700 101% 32,200 30,900 104% 5.800 6,800 85%
17 FER CAEREZET7HTI( |JIIBZEJICT ~ #BIFt-2PA 46,900 48,700 96% 37.300 37,300 100% 9.600 11,400 84%
18 iz 8 E83%5 = 2R A e~ sy 81.100 87,500 93% 75.800 81,000 94% 5.300 6,500 82%
19 BER COMENIBEEEE FHE ~ AEHEM 16,100 79,400 96% 63.900 65,700 97% 12,200 13,700 89%
20 BER CIMESMIBEBEE | JIIOE ~ B 88.800 89,800 99% 70,100 70,100 100% 18,700 19,700 95%
21 BmER CIOMEMNIBEEEE =@HhL ~ =5 63.900 66,300 96% 45.200 46,700 97% 18.700 19,600 95%
22 AR CAERE HOW ~ B4 62,600 75,400 83% 37,000 46,600 79% 25,600 28,800 89%
23 BEE CAE i W1 Ak ~ B 52,800 61,000 87% 32,500 38,000 86% 20.300 23,000 88%
24 IR CAE R e ~ S¢FhR 15.200 18,700 81% 10.100 12,700 80% 5.100 6,000 85%
25 F I CAERE MR ~ FEs 13,300 17,700 75% 9.400 13,000 72% 3.900 4,700 83%
RER £ 60.400 67,900 89% 46,000 51,500 89% 14,400 16,500 87%
NEXCO £:&t 64.100 73,100 88% 48,200 54,700 88% 15,900 18,400 86%
26 RIRHD 1EFmE K i~ F1H 79.100 85,500 93%
27 RH 3B AR REBE~AE 12,600 80.800 90%
28 BURAD 42T hhE~SHE 75,500 81,800 92%
29 BER SEth L6 EXARICT~FHE 48.100 50,100 96%
30 BER 65 =8 =HICT~/\i#h 15.000 /8,300 96%
31 SRR 7RI HEE~—2IT 52.400 47,700 110%
32 FER e = N JCT~F B HT 70.200 86,700 81%
33 R RS IS B JICT ~ B\ 92.400 103,700 89%
34 BER M= JIIEIJCT ~ 5 7 60.600 70,000 87%
35 R th R IB R4S K #JCT~FERHE 49,900 55,700 90%
36 - RIRAR th R B R4S Tu A~ YL 86,400 92,000 94% k5o o B TR B A A L
37 RIRHR th R B R4S th 85 £ 2 45 ~ T th 4% 83,500 86,700 96%
38 R th R Bk 4 IFF~TF4 66.400 71,900 92%
39 R th IR BAIE~ FAHITE 84.400 90200 94%
40 SRR AR th R IRk 48 0k ~ T 3K AB 75.000 75,400 99%
41 R s e e RIS ~FEEJCT 140,000 160,100 87%
47 RIRHD s e 4o Kt~ BB EIER 116.200 134,100 87%
43 FRHD 1S AR % HICT ~EISEJCT 111.600 133,200 84%
44 R IEHAR % 18] ~ S ETICT 68.900 77,100 89%
45 RH IBHTER 5435~ = EIRICT 67.000 75,100 89%
46 A 5 MR Fa A ~ PTH8JCT 74.200 80,900 92%
47 RRER cEmHaRE IS JCT ~ I FHEJCT 128.900 131,100 98%
EESEE ) 80.800 88,600 91%
BB 2AKEt 72,000 80,300 90%




